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ez | van |z L 17 cis) H5IS SIS _ Al=
ANPE I SHPE | 200 | 2HA A =] 2| EL Sl (kg/Et1 2
STG- 1 ulat 13 6 6 47 | m? 10,330 7,350 3,943] 21,623 2.24
STG- 2 cee 15 6 6 45 [ m’ 11,850 7,350 4,019] 23,219 2.47
STG- 3 13 6 6 47 m? 11,678 12,288 6,356 30,322 2.24
STG- 4 | of~ZE | zulsk 15 6 6 45 | m? 13,198 12,288 6,432] 31,918 2.47
STG- 5 36 24 6 114 | m? 13,307 15,571 7,981 36,859 2.82
STG- 6 sxicy |42 30 10 m 4616 10,641 5215] 20,472 0.85
STG- 7 === [ 108 | 100 10 m 7,824 12,984 6,487| 27,295 2.44
STG- 8 Zutak 13 6 6 47 | m? 19,213 9,357 5,348] 33,918 2.24
STG- 9 Sloiat 13 6 6 47 | m 20,401 13,793 7.473] 41,667 2.24
STG-10 | 2age | ©°° 36 24 6 114 | m 22,705 16,721 8,972 48,398 2.82
STG-11 sxicy |42 30 6 m 5,740 12,615 6,183] 24,538 051
STG-12 === [ 108 | 100 6 m 11,706 16,723 8,423] 36,852 1.47
SSGOTY ZAAHE
A ciejcr 2 H| < = =
e | ma == _ ot 2 o) S SAls - aol=
Z % 200| x 2+ M= 24| 4| SHAl (kg/TH3 )
M 1% Zutst 9 X 4 X 51 m' 5,473 5,278 2,768 13,519 1.41
M 2sx oloat 9 X 4 X 5] m' 6,906 10,641 5,330 22,877 1.41
IR opAmE cee 30 X 5 X 120 m' 8,594 13,112 6,594 28,300 2.35
M 4% == R 36 x 10 m 3,161 7,968 3,915 15,044 0.85
M 55x ;ff 60 x 10 m 4,279 9,719 4,787 18,785 1.41
L (55X2101) 108 % 10 m 6.154 11,697 5,792 23643 | 254
M 7% Zutsl 9 X 4 X 51 m 10,213 7,943 4,219 22,375 1.41
M 8% ST 9 X 4 X 51 m' 11,265 11,812 6,104 29,181 1.41
M o9em | =agE —_— 36 X 5 m 4,216 10,641 5,195 20,052 0.42
M105 % [nglz] 60 X 5 m 5,568 12,288 6,051 23,907 0.71
M= SX0| 108 x 5 m 7,853 13,920 6,920 28,693 1.27
RS-Line(=8 QA XAM] A E
thE T _7 £l SR - A=
Z )20 x 20| M= 2] AU SH| (kg/Tt9l2h)
R oprE 150 X 150 X 9 | m 8,631 5,030 2,732 16,393 1.90
Moz = Z3z|E 150 X 150 X 9 | m 13,306 8,931 4,703 26,940 1.90
1 2 3AQ J2222 1,000M= K| 7 Gt}
B USEI2572: 20 X 12 (Z X 2o
SSEL(OSYAM] ZAE
A ciejcr 2 H| < — =
=2 = L £r) EuERSAL ~ A=
=X 20| M= T 24| | Sl (kg/TH3 &)
Mz olrgE 200 X 5 m 8,447 3,864 2,244 14,555 2.35
Moz = EERIS 200 X 5 m 12,100 7,735 4,258 24,093 2.35
12 AYUIIs HQERMTMO AT} BEAE GIE HE BR0 w2 W AE)
COQHIEZE AR
o= T _7t A chg) Sula - Aol=
Z X210/ x 20| WK =11l Au| SHA (kg/Tt9l2h)
Mz of~gE 400 X 180 x 13 | m 4,405 1,714 668 6,787 4.90
Moz = EERIS 400 X 180 x 13 | m 6,761 4,232 1,421 12,414 4.90
1 2 3AQ J12222 1,000M= XAl 73 stch
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